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Variance analysis assignment
Name
Course
Institution
Lecturer


A budget variance arises in the funds due to discrepancies between the actual and predicted cost and revenues in specified accounts. The budget variances may probably vary because of a shortfall in revenue due to errors that may come by when estimating the expenditures. Also, it caused by spontaneous and unexpected spikes in operation cost, which are unavoidable.
Question 1
Hospital original profit forecast FY11
Projected IP revenue for FY11 $ 50155710
Projected expenditure for F11 $ 48069860
Projected profit for FY11= Projected revenue – projected expenditures= $ 2085850 
Revised projection
Actual IP revenue = $24220949
Actual IP expenditure= $25256062
Actual profit = $ - 1035113
Question 2
	Service 
	STANDARD FY11 BUDGET($)
	ACTUAL FY11 BUDGET ($)
	OVERBUDGET ($)

	CIRC
	4202356
	2472822
	1729534

	DIGEST
	6737188
	4356173
	2381015

	ENT
	754842
	462822
	292020

	GYN
	1268947
	777322
	491625

	MENTAL HEALTH
	714283
	400730
	313553

	NERVOUS
	1324119
	675173
	648946

	NEWBORN
	4256926
	2971020
	1285906

	OB
	8717115
	5472892
	3244223

	ORTHO
	3664557
	1771063
	18934494

	OTHER
	12497823
	4662227
	7835596

	RESP
	3931704
	1233771
	2697933




QUESTION 3
In every business irrespective of the nature of services is rendering, aims at maximization of revenue while ensuring that the cost is to its maximum level. This if the key factor to profit maximization. As a fee for service hospital, it is important to minimize the unnecessary expenses. The purchase of the required medical equipment should be based on the number of the patients expected. The figure obtained is derived from the previous year data(FY10 ). The value obtained is used with no additional cost. This is because, from the data that we have, the purchased product were not exhausted. This covers for the miscellaneous that may arise due to increases in the number of patients. 
[bookmark: _GoBack]For the case of Schumpert Medical Centre, all the product budget lines are over budgeted. Therefore, there is an unnecessary cost that should be cut down. The budget should be minimized to avoid loses. In the medical field, some inputs expire after a short period meaning that they should be bought in small quantities. Thus avoiding such purchases would minimize the budget. For instance, the product line with huge budget variances such as CIRC, DIGEST, NEWBORN, OB, ORTHO, OTHER and RESP should be revised and the budget minimized.
Question 4
In capitated hospitals, the service provider will be paid according to the number of services they are going to offer for an agreed period. The amount of compensation is subject to the sales that a physician or any other service provider is going to make. It is important to take caution of this method of operation as the service providers may opt for money rather than the quality of services. The services that the patient is going to receive, determines the future of the hospital. Therefore, to ensure maximization of the profit, the cost of the services should be low to attract more customers (patients) to the hospital. This will increase the capital turnover thus increasing the output. If the hospital is capitated, the material and other factors I would buy the inputs in bulks since the payment are be based on the sales made. If I purchase the goods in quantities, the hospital will enjoy the economies of scale thus reduced the cost of production. Therefore, I would spread the $ 50 million in all the product line basing the action on the previous actual budget (FY2010). 


